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Population

1 (a) Study Fig. 1 which shows the infant mortality rate and the Gross National Product (GNP) per
capita of selected countries in 2005.

(i) What is meant by the term ‘infant mortality rate’?

....................................................................................................................................... [2]
(ii) Describe the relationship shown in Fig. 1.
....................................................................................................................................... [4]
(iii) Suggest two reasons for the variation in infant mortality rates shown in Fig. 1.
....................................................................................................................................... [6]
(b) What is meant by the term ‘international migration’?
............................................................................................................................................... [2]
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(c) Describe and explain the consequences of international migration. Refer to a named country
or countries.

[Total: 24]
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Rural Settlement

2 Study Fig. 2 which shows the location of shops and services in the upper Conwy basin and Fig. 3
which shows the location of this area in North Wales.

(a) What is meant by the term ‘settlement hierarchy’?

............................................................................................................................................... [2]
(b) With specific reference to Fig. 2 describe the distribution of shops and services.

............................................................................................................................................... [6]
(c) Suggest two reasons for the variation in the distribution of shops and services in Fig. 2.

............................................................................................................................................... [6]

© OCR 2007



5

(d) Llanrwst is a rural market town in the upper Conwy basin. Using only the evidence provided
in Fig. 2, state and explain two factors which might influence the size and / or shape of
Llanrwst’s trade area.

(e) Penmachno is a village located in the picturesque Machno Valley within the Snowdonia
National Park (see Fig. 2); it has experienced a decline in centrality over the last 40 years.

(i) What is meant by the term ‘centrality’?

(ii) In Penmachno, during this period, the number of dwellings has increased but the number
of shops has decreased (Penmachno’s last shop closed in 2001).

Suggest one reason for the decrease in the number of shops.

[Total: 25]
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Urban Settlement

3 (a) Study Fig. 4, which shows the percentage of adult population receiving an annual personal
income of over $30,001 in Christchurch, New Zealand and Fig. 5 which shows wards and
land use for the same area.

Christchurch is a city of 320,000 people.

(i) Describe the pattern shown on Fig. 4.
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(b) Suggest two reasons for the spatial segregation of ethnic minority groups in cities in
MEDCs.
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(c) With reference to one named urban area in an MEDC, describe and explain the effects of
population change on the environment.

[Total: 26]
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